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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1. gdemef gdyey 3199 Y3 U IR A AfarEd: fad |

Candidate must write first his / her Roll No. on the question
paper compulsorily.

2. U 99 & et 9 SUSt TR § fohH UR w Jfe / TR / oty
M W et 9 & yeA w WS A |

If there is any error / difference / contradiction in Hindi and
English versions of the question paper, the question of Hindi
version should be treated valid.

3. |Wiyw Afed § | U wHiw 239 24 H A<k faweq § |

All questions are compulsory. Question Nos. 23 and 24 have
internal choices.

4. TAH G H ST G T8 IA-gRem H & fod |

Write the answer to each question in the given answer-book only.
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5. 59 7% % T 9 sifys SO ofF At 9 B, 39 |t 91 1 T T Wiy
ad ferg |
For questions having more than one part carrying similar marks,
the answers of those parts are to be written together in
continuity.
6. YT FHHG 1H TR GFT (i, i, ili M iv )T | TAF WM FH IW F AR
fagheq (31, &, WU ¢) € | WET fohew &1 SR SW-Yiaast H
FETER arferet e fod
There are four parts ( i, ii, iii and iv ) in Question No. 1. Each
part has four alternatives A, B, C and D. Write the letter of the
correct alternative in the answer-book at a place by making a
table as mentioned below :
s | S S
Question No. Correczigi:’g- of the
1. (1)
1. (i)
1. (iii)
1. (iv)
1. () 999 97 9 "faeiter, fafafeg 9 9 feg w01 &t S-srel diesd 9ed
ek Bt 2
(31) TR () weH
(W) =g () TGS |
Which of the following particles has largest de Broglie wavelength,
moving with equal velocity ?
(A) Electron (B) Proton
(C) Neutron (D) Hydrogen. %
SS—41-1—Chem. 1
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(i) XeF, 9 1 MHld T
(1) @ (7) Ty fofueh
(|) = wHael™ () = e |
Geometry of XeF , molecules is
(A) linear (B) trigonal pyramidal
(C) square planar (D) square pyramidal. %
(iii) 10 U SIREw el ( Hie’ SHAE = 40 ) 500 cm 3 foe@ & gen
g T | SHH! Hiewal ©
(1) 2.0M () 15M
) 1:0M (T 05 M.
10 gm caustic soda ( molar mass = 40 ) is dissolved in 500 cm 3
solution. Its molarity is
A 2:0M B) 15M
C) 1-0M (D) 05 M. z
(iv) AR A+ B — 2CH, A% @ & &1 97 10~ 2 Ha el !
v - 1
g, @ CF I & A EAW
(31) 0-5 x 10~ 2 HdA wifet ~ 1 Hepvg - !
() 1:0 x 10~ 2 HieA WX ~ 1 Hepoe ~ !
(d) 15 x 10~ 2 Hief offex ~ 1 Hepog ~ !
() 2:0 x 102 HdA wifel ~ 1 Hepveg - !
In the reaction A + B — 2C, the rate of disappearance of A is
10~ 2 molelit~! sec~!. Then the rate of formation of C is
(A) 05x 10~2 molelit~! sec™!
(B) 1:0x 10”2 molelit~! sec!
(©) 15x10-2 molelit~! sec~!
(D) 20 x 10~2 mole lit~! sec~! 5
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2. 05 ,07% &R 02 i o %H % Fgd A § sHard i faray |

Arrange and write 05’ , 05% and 022 < in increasing bond order.%

3. TEREH ¥ 991 a fowwes A &1 e fafen |

Write the molecular formula of explosive in which iodine is used in the

. 1
manufacturing. 5

4. & fooam &1 3eew fafau fSad su@ o amde, fooa & amas ot
foreTereh & ST % AN % S Bl §

Write one example of the solution in which total volume of the solution

is equal to the sum of the volumes of solute and solvent. %

5. Afufea A + 3B = 2C & fau av1 faaies =1 a9 fafeu |

N =

Write the unit of rate constant for the reaction A + 3B = 2C.
6. ek AfTH T E 2 T AThT HT Th IS0 ST |
What are lattice compounds ? Write one example of such compounds.
% + % =1
7.  STUEEA TUEH 2 2 37 O 1 T SR ST |

What are colligative properties ? Give one example of such properties.

% +% =1
8. IRA ® M e ® ? 39 f1am &1 ure &l A 91l U 59 1 A fafey |

What is Trouton’s rule ? Write the name of one liquid, which does not

obey this rule. % + % =1
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9. Aiffh Na| Ag(CN), | & o= #ued i fafen | o faive 9 fefiive =
e o €ISy |
Write coordination sphere of compound Na | AG(CN ), | . Also give

its ligand with its number. % + % + % =1

10. SThUNT YA TR ST chAvia TshA § *is & o= fafau |

Write any two differences between reversible and irreversible

processes. %+% =1
11. s s, 08~ + 21- — 2507 + 1, =i frarfafy &1 3 frufe W

3R arfyuferan =t whife fafaw |

Write rate determining step of mechanism and order of reaction for

the reaction S , 082 . 2 2SO42 o+ 1,

12. omafes Aifieh AB &1 Agif<aeh SAU9R Td Uferd ST[9R hH: 582 TH 30§ |

SHhT A T Ulieh SR oIS st A1 &t TUMET Hifq |

Theoretical molar mass and observed molar mass of ionic compound

AB are 58-2 and 30 respectively. Calculate its van’'t Hoff factor and

: - 1 1
degree of dissociation. 5 +3 =1

13. nYSR & Mgt o1 o7 e |

Give the diagram of n-type semiconductor. 1
SS—41-1—Chem. 1 [ Turn over

https://byjus.com


https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

EBYJus

The Learning App

6
14. Tl 3R HieR T2idt 31 € 2 Trdt aiadd &1 99 U9 Hier Trdt &1 0
ST | 1, 9% TS 99 HT T H Fed HH H Fafed Sty |

What are entropy and molar entropy ? Write the formula of entropy

change and unit of molar entropy. Arrange the entropy of water, ice

. . 1 1 1
and steam in decreasing order. l+7 +7 +35 =2

15. fr=fafaa & wroN &) = sifse :

() [Fe(CN)gq " I 381 [ Fe(CN)y ~ @iferes T § |

6 ]

() Ti3+ i focaq & Hgpal STEA o1 T S fo@E a1 € |

Explain the reasons of the following :

@) [Fe(CN)@]_3 is more stable than [Fe(CN)G]_4

(ii) Aqueous solution of Ti N complex ion is violet in colour.
1+1=2

16. AgBr fr&ea # 1t 4 arett Ffedt & W AT | 3T Ffed w AR HRO
Higd it |

Give the names of defects found in AgBr crystal. Explain these

+5 +35 =2

D] —
D] —
D] —

defects with reason. 5+

17. Touro o o § o1 7= § ? Yook R Ueh 3QI0 <ifwu | fauror v
T fopansT sl HifeRa o=l grT <9msd |
What is the difference between diffusion and osmosis ? Give one

example of each. Exhibit diffusion and osmosis through labelled

diagrams. > +% +1=2

2
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18. FHwANG! o g¥H 9 fgdia fom =t wera 9 fag wifve fe ' fodt 93 =1 g
o1l e 39 97 gR1 fohd ST ot e ar & SeX €7 |

With the help of first and second laws of Thermodynamics prove that
"Free energy change of any system is equal to the efficiency of useful

work done by the system”. 2

19. () HIoR =efhdl 3 ol =efhdl § 1 <X 8 ? AT BaCl, &I HleR

AR 104 ohm~! cm?2 mole~! ¥, @ TR eI ATcAhal ATd

HINT |

i) foag@-vomafe godie IR ToEfte godis § 1 SR ' 2 3 <Ml R
YHR Th TR F grafed € 2

(i) What is the difference between molar conductance and

equivalent conductance ? Determine equivalent conductance of

BaCl , , if its molar conductance is 104 ohm ~! c¢cm? mole~! .

(ii) What is the difference between electrochemical equivalent and
chemical equivalent ? How are both related to each other ?

1+1=2

20. 9iHIU So1 3R EA ol | = AW T 2 tfufshar-sei @ # giwao et
3R TEcAr Tl ol TUZT | T Fagrd ol STUan HehAw sTaen g & 9%
72

What is the difference between activation energy and threshold
energy ? Indicate activation energy and threshold energy in reaction-

energy diagram. Why is transition state theory better than collision

theory ? %+1+%=
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21. (1) TH, f§&, FIW Tche TH ARES ATAH] &l 3MAS JAR ARIH

NN o faWa
EINEd ﬁ diMlchd <hllSIU |

(i) TfAd T0F & AT STTHA H Fefie W T aret Afafshan 1 qaafsw
gt ST | Afe S99 Ffeid e & &M W Sod foeead yge fha

ST ® @ S q9re g ?

(i) Classify salt, zinc, copper sulphate and graphite conductors into

ionic and electronic conductors.

(i) Give the chemical equation of the reaction, occurring at cathode
in electrolysis of molten salt. What will be the effect, when its

aqueous solution is used in place of molten salt ? L% 8= 2
22. (i) OFIEE HWEEA F Y ? 3U UHSST |

(i) fag org @0 T 2 39 T W fafau |

(iii) Mn SdH SRR ST FI Yef¥fd il & ? STk hRU hl A
HifST |

(iv) Cu?* o gaxifte fo=ma fafaw | s@h greehia Aol i IO
HIST |

(i) What is lanthanide contraction ? Explain it.
(ii) What is misch metal ? Write its one use.
(i) Why does Mn show highest oxidation state ? Explain its reason.

(iv) Write electronic configuration of Cu?* . Calculate its magnetic

moment. 1+1+1+1=4
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23. (i) oTfvas Svs faga & SR W =ITcieh AR AGHeh i & HitaT |

() B, 3 % FoM qa1 AW i A RIY | THRT AT hereh o=,

T4 A 3R TR FEHA YHhfa fafay |

(i) % KT T, A & T h1 AU FHH F € ? HRU Hied AT
hITSIT |
3T
() foye ool o SMuR W 1, 2 SEANTE ® Ydd T SAYE ghia i
AT it |
() C, Y 1 o a1 AW 6B SIS | gHbT 9 hereh o=,

T Y IR IR JEHF Ypa fafea |
(i) H, O FTeA® H, SH 3tk =l & ? HN0 "ied THemsy |

(i) On the basis of molecular band theory, explain conductors and
semiconductors.

(i) Draw the energy level diagram of B, molecule. Write its

molecular orbital configuration, bond order and its magnetic

nature.

(iii) Why is density of ice lower than density of water ? Explain with

reason. 1+2+1=4
OR

(i) On the basis of dipole moment, explain the polar and non-polar
properties of 1, 2 dichloroethene.

(i) Draw the energy level diagram of C, molecule. Write its

molecular orbital configuration, bond order and its magnetic
nature.
(iii) Why is boiling point of H 9 O higher than H 9 S ? Explain with

reason. 1+2+1=4
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24. () Tafom fafase w0 € 2 37 FE @ 3T ST |

() faferre wd fafaei@a | wiE <1 =R fafay |

(i) Yo T Foia T 9 vqfaftm o o 3 o fard eTaeet 9a &1

AHifeha fod IAET | 9 S9H ieTse Td TSeIR e e S §

1 S g9 B ?
3reqa

i He, Ne, Ar & g U9 forar 19 = Fegd € ?
(i) NeUTd Areh ¥fifae IOl # &g A TR ST |

(iii) I W IFE Tl F JUFHT FT & ITHIO HT AR o IR | 4
Y Ag % WA O, TR e §, @ @ & g9 g 2

(i) What are three-dimensional silicates ? Give any two examples.

(i) Write any two differences between silicates and silicones.

(i) Draw the labelled diagram of electrolytic cell in the extraction of
aluminium metal from pure and anhydrous alumina. What will be

the two effects, when cryolite and fluorspar are not mixed in it ?

1+1+2=4
OR
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(i) Why are He, Ne, Ar called as inert and rare gases ?

(i) Write any two differences in the physical properties of Ne
and Ar.

(iii) Draw the labelled diagram of Rayleigh apparatus in the
separation of noble gases from air. What will be the two effects
when O , is not mixed with air ? 1+1+2=4
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